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Talk:Activity I - Command Line Literacy

Responses: Activity I

From Command Line Literacy

Miguel said ...

1. Command lines let people perform batch actions better than a GUI. Commands can be used in combination with each

other and are documented.

2a. Yes she can make changes to her homework. 2b. homework.txt has read and write access, rw, for susan.

3. 755

4a. Unix file permissions tutorial, http://www.dartmouth.edu/~rc/help/faq/permissions.html 4b. It seems very detailed but

probably not as good. The tutorial has more pages

5. Just the module and chmod calculator

--Miguel 02:05, 10 Apr 2008 (PDT)

Cherise said ...

1. A CLI allows the user to perform tasks in a more complex way than a GUI and gives more options.

2a. Yes, she can edit/save homewotk.txt

2b. Read/write access for susan on the file

3. chmod 755

4a. http://www.tuxfiles.org/linuxhelp/filepermissions.html Linux file permissions

4b. The site I chose is not as detailed, but I find the text easier on the eyes.

5. I only utilized the learning module and the linked calculator

--Cherise 05:19, 26 Apr 2008 (PDT)

Dan said ...

1. cli is much more powerful

2.

a. Yes

b. rw access for susan

3. 755



Talk:Activity I - Command Line Literacy

4.

a. Permissions for files and folders

http://technet2.microsoft.com/windowsserver/en/library/e4be109f-5547-4df8-90f0-4d885dc302e71033.mspx?mfr=true

b. The microsoft site links to more documents and easy to read

5. Microsoft site

--Dan 01:58, 1 May 2008 (PDT)

Retrieved from "http://seandiggity.dreamhosters.com/epsy381wiki/index.php?title=Talk:Activity_I"



Talk:Activity II - Command Line Literacy

Responses: Activity II

From Command Line Literacy

Miguel said ...

1. Juna uses CLI because its easy to search big text files and some servers don't have GUI.

2a. chmod ug=o 2b. It changes user and group to have same permissions as others

3. 644

4a. http://www.debian.org/distrib/ Getting Debian 4b. Its the official site

5. Just module and calculator

--Miguel 02:26, 10 Apr 2008 (PDT)

Cherise said ...

1. He uses only the command line because it's better suited to the task of searching through text files.

2a. chmod u=o

2b. That command gives the owner of the file the same permissions as the "others".

3.chmod 644

4a. http://www.debian.org/distrib/ Getting Debian 4b. That's the official project site of Debian GNU/Linux.

5. I only utilized the learning module and the linked calculator

--Cherise 06:20, 26 Apr 2008 (PDT)

Dan said ...

1. Server has no gui

2.

a. chmod ug=o

b. Changes permissions so their same as other

3. 644

4.
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4.

a. Debin server setup http://www.debianhelp.co.uk/debianserver.htm

b. Shows how to set up server

5. Debian server site

--Dan 02:10, 1 May 2008 (PDT)

Retrieved from "http://seandiggity.dreamhosters.com/epsy381wiki/index.php?title=Talk:Activity_II"



Talk:Activity III - Command Line Literacy

Responses: Activity III

From Command Line Literacy

Miguel said ...

1.Seila should use CLI, since he wants to automate the task.

2a. Yes, group acctg can read the file 2b. There is an "r" in the permissions for the group acctg

3. 600

4a. Protecting Personal Information, http://www.ftc.gov/infosecurity/ 4b. Its from the governmetn, so probably

goos with security.

5. Just the module, calculator

--Miguel 02:39, 10 Apr 2008 (PDT)

Cherise said ...

1. He should definitely use a CLI, since the task he wants to perform is better automated.

2a. No.

2b. No one else can write to the file.

3. chmod 600

4a. http://searchsecurity.techtarget.com Information Security

4b. The resource seems like it's a very up to date news site on security.

5. I only utilized the learning module and the linked calculator

--Cherise 06:41, 26 Apr 2008 (PDT)

Dan said ...

1. cli is good for that since its moving files

2.

a. Yes acctg can read it

b. acctg group has an r
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3. 600

4.

a. Data security http://en.wikipedia.org/wiki/Data_security

b. Wikipedia is good resource

5. Wikipedia

--Dan 03:00, 1 May 2008 (PDT)

Retrieved from "http://seandiggity.dreamhosters.com/epsy381wiki/index.php?title=Talk:Activity_III"
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Feedback

From Command Line Literacy

Miguel said ...

1. I think the activities were effective although I didnt learn a whole lot. I never used a CLI before so it was

interesting but I won't remember everything.

2. It was old school. I don't think so.

3. Yes, the calculator was really useful. The tutorial could use some color.

4. I didn't use them.

--Miguel 03:45, 10 Apr 2008 (PDT)

Cherise said ...

1. The learning activities were generally very good, and i think I learned a lot more than I expected to. I think

the learning activities weren't linked strongly enough with the chmod tutorial.

2. The CLI is very interesting, and I may end up using it on my Mac.

3. I think the tutorial was almost too separate from everything. The chmod calculator was easy to use.

4. I only clicked on a few of the resources out of curiosity but I didn't utilize any of them.

5. Overall it was good.

--Cherise 07:45, 26 Apr 2008 (PDT)

Dan said ...

1.I learned some good stuuf

2.It was pretty cool but I like the GUI

3.The calculator was good

4.Didn't use them

--Dan 04:14, 1 May 2008 (PDT)

Retrieved from "http://seandiggity.dreamhosters.com/epsy381wiki/index.php?title=Talk:Feedback"
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